Managerial Accounting
Acct 2301

Chapter 8 Problems

1. At the beginning of 2006, Western Furniture Company planned to produce 35,000 chairs.  Each chair was expected to require 10 feet of lumber at a cost of $3 per foot.  At the end of 2006, it was determined that Western actually used 10.2 feet of lumber per chair, which was purchased for $2.85 per foot.  Western actually produced 36,500 chairs for the year.  What is the company’s total materials variance for 2006?
Static


Actual
$3 * 365,000

$2.85 * 372,300

$1,095,000

$1,061,055
      $33,945 F
2. Pfeiffer Company produces a number of products, including a small American flag.  The firm, which began operations at the beginning of the current year, uses a standard cost system.  The standard costs for one American flag are provided below:

Direct Material (0.5 yd @ $1)

$  0.50

Direct Labor (1 hr @ $10)

$10.00


The company produced and sold 35,000 units at the following costs:


Direct Materials (18,000 yds)

$  17,280


Direct Labor (36,000 hrs)

$374,400


What is the company’s labor rate variance?


Flex

Actual


$10 * 36,000



$360,0000
$374,400

$14,400 U
3. The Zintrozak Company provides the following standard cost data per unit to make an estimated 11,000 units for the year:

Direct Materials (2 feet @ $2.50 per foot)
$  5.00

Direct Labor (4 hours @ $12 per hour)
$48.00

During the year, the company produced and sold 12,000 units incurring the following costs:

Direct Materials
26,000 feet @ $2.25 feet

Direct Labor

47,500 hours @ $12.25 per hour

What was the materials quantity (usage) variance?


Static


Flex


$2.50 * 24,000 ft
$2.50 * 26,000 ft

$5,000 U
4. The Wollongong Company, estimating its sales to be 20,000 units for the upcoming period, prepared the following static budget:


Units:



  20,000
22,000 units
Sales



$200,000

Less variable costs:


Manufacturing costs

    70,000


Selling and admin costs
    40,000
Contribution Margin

$  90,000
$99,000
Less fixed costs:


Manufacturing costs

    22,000
-22,000

Selling and admin costs
    17,000
-17,000
Net income


$  51,000
$60,000
The owner of the business is not sure about the 20,000 units sales volume and has requested additional budgets.  What is the amount of net income the company will have if sales are at 110% of the static budget volume level?


$60,000
5. Greenville Company estimated that it would sell 20,000 units at $45 per unit for the upcoming period.  The company estimated that the units would cost the company $30.  During the year, the company actually sold 22,000 units at $43.50.  The units cost the company $25 each.  What is the company’s total sales variance?

Static


Actual

$45 * 20,000

$43.50 * 22,000

$900,000

$957,000
      $57,000 F
6. Cathy’s Florals produced a special Mother’s Day arrangement that included eight roses.  The standard and actual costs of the roses used in each arrangement follows: 

	  
	Standard 
	Actual 

	Average number of roses per arrangement 
	7.5 
	8 

	Price per rose 
	× $0.4 
	× $0.36 

	  
	

	


	      Cost of roses per arrangement 
	$3.00 
	$2.88 

	  
	



	




	  

	Cathy’s Florals planned to make 740 arrangements but actually made 780. 

	



What is the company’s material price variance?  (round answer to nearest dollar)


Flex


Actual

$0.40 * (8 * 780)
$0.36 * (8 * 780)
$250 F
